Publ. Math. Debrecen 58 / 3 (2001), 367–389

Uncertainty inequalities and order of magnitude of Hankel transforms

By JORGE J. BETANCOR (La Laguna) and LOURDES RODRÍGUEZ-MESA (La Laguna)

Abstract. In this paper we study the behaviour of the Hankel integral transform at the infinity in a type Cesàro sense. Also we establish uncertainty inequalities for Hankel transforms and Laguerre expansion. Finally an entropy inequality for Hankel transforms is obtained.

1. Introduction

Hankel integral transformation h_{μ} is usually defined by (see [19] and [22], for instance)

$$h_{\mu}(f)(x) = \int_{0}^{\infty} (xy)^{-\mu} J_{\mu}(xy) f(y) y^{2\mu+1} dy,$$

where f is a nice function. Here J_{μ} represents the Bessel function of the first kind and order μ and we assume that $\mu > -1/2$. If $\mu = \frac{n-2}{2}$, $n = 2, 3, \ldots$, the Hankel transform h_{μ} replaces the Fourier transform of radial functions in \mathbb{R}^n .

Let $1 \leq p \leq \infty$. We denote by $L_{p,\mu}$ the Lebesgue space $L_p((0,\infty))$, $x^{2\mu+1}dx$ and the usual norm in $L_{p,\mu}$ is represented by $\|\cdot\|_{p,\mu}$. It is well-known that if $f \in L_{1,\mu}$ then $h_{\mu}(f)$ is a bounded continuous function on

Mathematics Subject Classification: 46F12.

Key words and phrases: Hankel transform, L_p -spaces, uncertainty inequality, Hausdorff-Young inequality.

Partially supported by DGICYT Grant PB 97–1489 (Spain).

 $(0, \infty)$. Also, according to a version of the Riemann–Lebesgue Lemma for Hankel transforms ([31, p. 457, 14.41]),

(1)
$$h_{\mu}(f)(x) \to 0, \quad \text{as } x \to \infty,$$

provided that $f \in L_{1,\mu}$. However the above convergence can be arbitrarily slow. Indeed, let ϕ be a nonnegative function defined on $(0, \infty)$ such that $\phi(x) \to \infty$, as $x \to \infty$, and let $(x_n)_{n \in \mathbb{N}}$ be an increasing and unbounded sequence of positive real numbers. Assume that $n \in \mathbb{N}$. We define the functional T_n on $L_{1,\mu}$ by

$$T_n f = \phi(x_n) h_\mu(f)(x_n), \quad f \in L_{1,\mu}$$

Since the function $z^{-\mu}J_{\mu}(z)$ is bounded on $(0,\infty)$, T_n is continuous from $L_{1,\mu}$ into \mathbb{C} . Moreover, by [22, Theorem 2.a] the norm of T_n is given by

$$||T_n|| = \phi(x_n) \sup_{y \in (0,\infty)} |(x_n y)^{-\mu} J_{\mu}(x_n y)| = \frac{\phi(x_n)}{2^{\mu} \Gamma(\mu + 1)}.$$

By invoking now uniform boundedness theorem we deduce that there exists $f \in L_{1,\mu}$ such that the sequence $\{T_n f\}_{n \in \mathbb{N}}$ is not bounded. Thus we have found $f \in L_{1,\mu}$ for which

$$\limsup_{x \to \infty} \phi(x) |h_{\mu}(f)(x)| = \infty.$$

Our first objective in this paper, that is inspired in [2], is to analyze the behaviour on $h_{\mu}(f)(x)$, as $x \to \infty$, by considering convergence in a weaker sense. We establish in Section 2 sufficient conditions on a function f and on real numbers α and β in order that the following equality

(2)
$$\lim_{\lambda \to \infty} \frac{1}{\lambda^2} \int_0^\lambda \left(1 - \left(\frac{t}{\lambda}\right)^2 \right)^\beta t^\alpha h_\mu(f)(t) t^{2\mu+1} dt = 0$$

holds. Note that (2) can be interpreted as a limit in the Cesàro sense.

HERZ [19, Theorem 3] proved that the Hankel transformation h_{μ} can be extended to $L_{p,\mu}$ as a bounded operator from $L_{p,\mu}$ into $L_{p',\mu}$, where as usual by p' we denote the conjugated exponent of p, provided that $1 \le p \le 2$. Moreover, if $\frac{4(\mu+1)}{2\mu+3} , then$

(3)
$$\lim_{n \to \infty} \int_0^n (xy)^{-\mu} J_\mu(xy) h_\mu(f)(y) y^{2\mu+1} dy = f(x),$$

in the sense of convergence in $L_{p,\mu}$ ([19, Theorem 5]) and almost everywhere $x \in (0,\infty)$ ([23, Corollary 2]). However if $p = \frac{4(\mu+1)}{2\mu+3}$ there exists a function $f \in L_{p,\mu}$ having compact support such that the sequence $\{\int_0^n (xy)^{-\mu} J_{\mu}(xy) h_{\mu}(f)(y) y^{2\mu+1} dy\}_{n \in \mathbb{N}}$ diverges for almost all $x \in (0,\infty)$ ([23, Theorem 2]).

Also, the convergence in (3) does not hold a.e. $(0, \infty)$, in general, when $f \in L_{1,\mu}$. The equality $h_{\mu}(h_{\mu}f) = f$ holds a.e. $(0, \infty)$ provided that f and $h_{\mu}(f)$ are in $L_{1,\mu}$ ([22, Corollary 2.e]).

On the other hand, STEMPAK [28, p. 17] stated that if $\delta > \mu + 1/2$ and $f \in L_{p,\mu}$, with $1 \le p \le 2$, then

(4)
$$\lim_{\lambda \to \infty} \int_0^\lambda \left(1 - \left(\frac{t}{\lambda}\right)^2 \right)^\delta (xt)^{-\mu} J_\mu(xt) h_\mu(f)(t) t^{2\mu+1} dt = f(x),$$

for almost all $x \in (0, \infty)$. This result can be extended to p > 2 involving Hankel convolution ([7]).

Note that the Bochner-Riesz type multiplier in (4) improves the convergence in (3). This fact leads to investigate the convergence in (2). Observe that the integral in (4) for x = 0, reduces, except a constant, to the integral in (2) for $\alpha = 0$, but, in general, (4) is not true for x = 0.

In Section 3 we present uncertainty inequalities for the Hankel transform and Laguerre expansions. BOWIE [9] and recently RÖSLER and VOIT [27] have obtained uncertainty inequalities for Hankel transforms. We establish a new uncertainty inequality for h_{μ} by using Laguerre expansions. Our procedure is inspired in the one developed by PATI, SITARAM, SUNDARI and THANGAVELU [25] and we use that Laguerre functions are eigenfunctions for the Hankel transformation. Also, after stating a version of the celebrated Hardy's theorem for Hankel transform, we obtain an uncertainty principle associated to Laguerre expansions.

HEINIG and SMITH [18] established a number of generalizations of the classical Heisenberg–Weyl uncertainty inequality. From a general weighted form of the Hausdorff–Young theorem they proved weighted uncertainty inequalities for Fourier transforms. Here, by using weighted forms of the Hausdorff–Young theorem for Hankel transforms ([13], [14] and [20]) we obtain weighted uncertainty inequalities in the Hankel setting.

Throughout this paper by C we always denote a positive constant not necessarily the same in each ocurrence.

Jorge J. Betancor and Lourdes Rodríguez-Mesa

2. Order of magnitude of Hankel transforms

Our objective in this section is to determine conditions on a function fand on two real numbers α and β in order that the following

$$\lim_{\lambda \to \infty} \frac{1}{\lambda^2} \int_0^\lambda \left(1 - \left(\frac{t}{\lambda}\right)^2 \right)^\beta t^\alpha h_\mu(f)(t) t^{2\mu+1} dt = 0$$

holds. Our results can be seen as Hankel versions of the ones obtained in [2] for Fourier transforms.

Propisition 2.1. (i) Assume that $f \in L_{1,\mu} \cap L_{p,\mu}$, with $1 , and that <math>0 < \alpha + \frac{2(\mu+1)}{p} < 2$. Then

$$\lim_{\lambda \to \infty} \frac{1}{\lambda^2} \int_0^\lambda \left(1 - \left(\frac{t}{\lambda}\right)^2 \right)^{-1/p} t^\alpha h_\mu(f)(t) t^{2\mu+1} dt = 0.$$
(ii) Let $1 -1/p$ and $\mu \le \frac{p-1}{2}$. If $f \in L_{p,\mu}$ then

$$\lim_{\lambda \to \infty} \frac{1}{\lambda^2} \int_0^\lambda \left(1 - \left(\frac{t}{\lambda}\right)^2 \right)^\beta t^{1/p'} h_\mu(f)(t) t^{2\mu+1} dt = 0.$$

PROOF. (i) We define

$$I(\lambda) = \frac{1}{\lambda^2} \int_0^\lambda \left(1 - \left(\frac{t}{\lambda}\right)^2 \right)^{-1/p} t^\alpha h_\mu(f)(t) t^{2\mu+1} dt, \quad \lambda > 0,$$

and

$$K(x,\lambda) = \frac{1}{\lambda^2} \int_0^\lambda \left(1 - \left(\frac{t}{\lambda}\right)^2 \right)^{-1/p} t^{\alpha}(xt)^{-\mu} J_{\mu}(xt) t^{2\mu+1} dt, \quad \lambda, x > 0.$$

By interchanging the order of integration we can write

$$\begin{split} I(\lambda) &= \frac{1}{\lambda^2} \int_0^\lambda \left(1 - \left(\frac{t}{\lambda}\right)^2 \right)^{-1/p} t^\alpha \int_0^\infty (xt)^{-\mu} J_\mu(xt) f(x) x^{2\mu+1} dx t^{2\mu+1} dt \\ &= \int_0^\infty f(x) K(x,\lambda) x^{2\mu+1} dx, \qquad \lambda > 0. \end{split}$$

371

According to [19, Theorem 3], it has

$$\begin{split} \|K(\cdot,1)\|_{q',\mu} &= \left\|h_{\mu}[\chi_{(0,1)}(t)(1-t^2)^{-1/p}t^{\alpha}]\right\|_{q',\mu} \\ &\leq C \|\chi_{(0,1)}(t)(1-t^2)^{-1/p}t^{\alpha}\|_{q,\mu} = C \left\{\int_0^1 (1-y)^{-q/p}y^{\mu+\alpha q/2}dy\right\}^{1/q}, \end{split}$$

provided that $1 \le q \le 2$. Note that the last integral is finite when q < p and $\alpha q + 2\mu + 2 > 0$. Here χ represents the characteristic function of the interval (0, 1).

Also a straightforward manipulation leads to

$$\|K(\cdot,\lambda)\|_{q',\mu} \le \|\lambda^{2\mu+\alpha} K(\cdot\lambda,1)\|_{q',\mu} = \lambda^{2(\mu+1)/q+\alpha-2} \|K(\cdot,1)\|_{q',\mu}, \quad \lambda > 0.$$

On the other hand, Hölder's inequality implies that

$$|I(\lambda)| \le ||f||_{q,\mu} ||K(\cdot,\lambda)||_{q',\mu} \le C\lambda^{2(\mu+1)/q+\alpha-2} (||f||_{1,\mu} + ||f||_{p,\mu}^p)^{1/q},$$

provided that $1 \le q < p$ and $\alpha q + 2\mu + 2 > 0$.

Hence, since we can find q such that $1 \le q < p$ and $0 < \alpha q + 2\mu + 2 < 2q$, we conclude that $I(\lambda) \to 0$, as $\lambda \to \infty$.

(ii) Let $f \in L_{p,\mu}$. We now consider

$$I(\lambda) = \frac{1}{\lambda^2} \int_0^\lambda \left(1 - \left(\frac{t}{\lambda}\right)^2 \right)^\beta t^{1/p'} h_\mu(f)(t) t^{2\mu+1} dt, \quad \lambda > 0.$$

Let $\varepsilon > 0$. By invoking [19, Theorem 3], $h_{\mu}(f) \in L_{p',\mu}$. Hence, there exists $\lambda_0 > 0$ such that

$$\int_{\lambda_0}^{\infty} |h_{\mu}(f)(t)|^{p'} t^{2\mu+1} dt < \varepsilon.$$

We divide the integral in $I(\lambda)$ as follows

$$I(\lambda) = \frac{1}{\lambda^2} \left(\int_0^{\lambda_0} dt + \int_{\lambda_0}^{\lambda} \right) \left(1 - \left(\frac{t}{\lambda}\right)^2 \right)^\beta t^{1/p'} h_\mu(f)(t) t^{2\mu+1} dt$$
$$= I_1(\lambda) + I_2(\lambda), \quad \lambda > \lambda_0.$$

Now, each integral is estimated.

Firstly, we have

$$|I_1(\lambda)| \le \frac{1}{\lambda^2} \max\left\{1, \left(1 - \left(\frac{\lambda_0}{\lambda}\right)^2\right)^\beta\right\} \int_0^{\lambda_0} t^{1/p'} |h_\mu(f)(t)| t^{2\mu+1} dt < \varepsilon,$$

when λ is sufficiently large.

On the other hand, Hölder's inequality leads to

$$\begin{aligned} |I_{2}(\lambda)| &\leq \frac{1}{\lambda^{2}} \Big\{ \int_{0}^{\lambda} \Big(1 - \Big(\frac{t}{\lambda}\Big)^{2} \Big)^{\beta p} t^{p/p'} t^{2\mu+1} dt \Big\}^{1/p} \Big\{ \int_{\lambda_{0}}^{\lambda} |h_{\mu}(f)(t)|^{p'} t^{2\mu+1} dt \Big\}^{1/p} \\ &\leq C \varepsilon^{1/p'} \lambda^{\frac{1}{p'} + \frac{2\mu+2}{p} - 2} \Big\{ \int_{0}^{1} (1-u)^{\beta p} u^{\frac{1}{2}(p/p'+2\mu)} du \Big\}^{1/p} \leq C \varepsilon^{1/p'}, \end{aligned}$$

provided that $\beta > -1/p$ and $\mu \le \frac{p-1}{2}$. Hence, under the imposed condition

onditions
$$\lim_{\lambda \to \infty} I(\lambda) = 0.$$

An immediate consequence of Proposition 2.1 (ii), is the following.

Corollary 2.1. If $1 and <math>\mu \le \frac{p-1}{2}$ then

$$\lim_{\lambda \to \infty} \frac{1}{\lambda^2} \int_0^\lambda t^{1/p'} h_\mu(f)(t) t^{2\mu+1} dt = 0,$$

provided that $f \in L_{p,\mu}$.

PROOF. It is sufficient to take $\beta = 0$ in Proposition 2.1 (ii).

HIRSCHMAN [22] and HAIMO [17] investigated the convolution operation and a translation operator associated to the Hankel transformation. For every $x \in (0, \infty)$ and $f \in L_{p,\mu}$, $1 \le p \le \infty$, the Hankel translated $\tau_x f$ of f is given by

$$(\tau_x f)(y) = \int_0^\infty D_\mu(x, y, z) f(z) \frac{z^{2\mu+1}}{2^\mu \Gamma(\mu+1)} dz, \qquad y \in (0, \infty).$$

where

$$D_{\mu}(x, y, z) = (2^{\mu} \Gamma(\mu+1))^{2} \int_{0}^{\infty} (xt)^{-\mu} J_{\mu}(xt)(yt)^{-\mu} J_{\mu}(yt)(zt)^{-\mu} J_{\mu}(zt)t^{2\mu+1} dt,$$
$$x, y, z \in (0, \infty).$$

The operator τ_x is a contraction in $L_{p,\mu}$, for each $x \in (0,\infty)$ and $1 \le p \le \infty$ ([28, p. 16]).

In [5] we introduced the h_{μ} -Lebesgue points of a function f as follows. Let f be a Lebesgue measurable function on $(0,\infty)$ such that $\int_0^a |f(x)| x^{2\mu+1} dx < \infty$, for every a > 0. An $x_0 \in [0,\infty)$ is an h_{μ} -Lebesgue point of f when

$$\int_0^h |(\tau_{x_0} f)(t) - f(x_0)| t^{2\mu+1} dt = o(h^{2\mu+2}), \quad \text{as } h \to 0^+.$$

In [5, Proposition 3.1] it was established that almost everywhere point of $(0, \infty)$ is an h_{μ} -Lebesgue point of f. Recently, BLOOM and XU [8] have considered Lebesgue points in the setting of Chébli–Trimèche hypergroups.

The following result, concerning to the convergence of the Bochner– Riesz means of Hankel transform in the origin, will be useful in the sequel. This property can be stated in the more general setting of Chébli–Trimèche hypergroups (note that in [8, Lemma 4.4] the origin is not included).

Lemma 2.1. Let $f \in L_{1,\mu}$ and $\beta > \mu + 1/2$. If 0 is an h_{μ} -Lebesgue point of f then

$$\lim_{\lambda \to \infty} \frac{1}{2^{\mu} \Gamma(\mu+1)} \int_0^\lambda \left(1 - \left(\frac{t}{\lambda}\right)^2 \right)^\beta h_\mu(f)(t) t^{2\mu+1} dt = f(0).$$

PROOF. Dominated convergence theorem allows us to write, for each $\lambda > 0$,

$$\frac{1}{2^{\mu}\Gamma(\mu+1)} \int_0^{\lambda} \left(1 - \left(\frac{t}{\lambda}\right)^2\right)^{\beta} h_{\mu}(f)(t) t^{2\mu+1} dt$$
$$= \lim_{x \to 0^+} \int_0^{\lambda} \left(1 - \left(\frac{t}{\lambda}\right)^2\right)^{\beta} h_{\mu}(f)(t) (xt)^{-\mu} J_{\mu}(xt) t^{2\mu+1} dt$$

Moreover, according to [6, p. 3], it has,

$$\int_0^\lambda \left(1 - \left(\frac{t}{\lambda}\right)^2\right)^\beta h_\mu(f)(t)(xt)^{-\mu} J_\mu(xt) t^{2\mu+1} dt$$
$$= \int_0^\infty \phi_\lambda(y)(\tau_x f)(y) \frac{y^{2\mu+1}}{2^\mu \Gamma(\mu+1)} dy, \qquad \lambda, x > 0,$$

where $\phi_{\lambda}(y) = 2^{\beta} \Gamma(\beta+1) \lambda^{2\mu+2} (y\lambda)^{-\mu-\beta-1} J_{\mu+\beta+1}(y\lambda), \ y, \lambda > 0.$

Hence, by taking into account that $\tau_x f \to f$, as $x \to 0^+$, in $L_{1,\mu}$, since the function $z^{-\nu} J_{\nu}(z), \nu \ge -1/2$, is bounded on $(0, \infty)$, it follows

$$\int_0^\lambda \left(1 - \left(\frac{t}{\lambda}\right)^2\right)^\beta h_\mu(f)(t)t^{2\mu+1}dt = \int_0^\infty \phi_\lambda(y)f(y)y^{2\mu+1}dy, \qquad \lambda > 0.$$

Then the proof of lemma is complete when we see that

(5)
$$\lim_{\lambda \to \infty} \frac{1}{2^{\mu} \Gamma(\mu+1)} \int_0^\infty \phi_\lambda(y) f(y) y^{2\mu+1} dy = f(0).$$

Since $\int_0^\infty \phi_\lambda(y) y^{2\mu+1} dy = 2^\mu \Gamma(\mu+1), \, \lambda > 0,$ it has

$$\int_{0}^{\infty} \phi_{\lambda}(y) f(y) y^{2\mu+1} dy - 2^{\mu} \Gamma(\mu+1) f(0)$$

=
$$\int_{0}^{\infty} \phi_{\lambda}(y) [f(y) - f(0)] y^{2\mu+1} dy, \qquad \lambda > 0.$$

To finish the proof we proceed as in [30, Theorem 13]. Let $\varepsilon > 0$. Since 0 is an h_{μ} -Lebesgue point of f, there exists $\eta > 0$ such that

$$\delta^{-(2\mu+2)} \int_0^\delta |f(y) - f(0)| x^{2\mu+1} dx < \varepsilon, \qquad 0 < \delta \le \eta.$$

Hence, if $\lambda > 1/\eta$, by taking into account that the function $z^{-\nu}J_{\nu}(z)$, $\nu \ge -1/2$, is bounded on $(0, \infty)$, it has

$$\left| \int_0^{1/\lambda} \phi_{\lambda}(y) [f(y) - f(0)] y^{2\mu + 1} dy \right| < C\varepsilon.$$

On the other hand, since $\sqrt{z}J_{\mu}(z)$ is bounded on $(0,\infty)$, we have

$$\begin{aligned} \left| \int_{1/\lambda}^{\eta} \phi_{\lambda}(y) [f(y) - f(0)] y^{2\mu + 1} dy \right| \\ &\leq C \lambda^{\mu + 1/2 - \beta} \int_{1/\lambda}^{\eta} y^{-\mu - \beta - 3/2} |f(y) - f(0)| y^{2\mu + 1} dy, \qquad \lambda > 1/\eta. \end{aligned}$$

Then, by partial integration it deduces

$$\begin{split} &\int_{1/\lambda}^{\eta} y^{-\mu-\beta-3/2} |f(y) - f(0)| y^{2\mu+1} dy = g(y) y^{-\mu-\beta-3/2} \Big]_{y=1/\lambda}^{y=\eta} \\ &- (\mu+\beta+3/2) \int_{1/\lambda}^{\eta} y^{-\mu-\beta-5/2} g(y) dy, \qquad \lambda > 1/\eta, \end{split}$$

where $g(y) = \int_0^y |f(t) - f(0)| t^{2\mu+1} dt$, y > 0. Hence, we obtain

$$\left|\int_{1/\lambda}^{\eta} \phi_{\lambda}(y)[f(y) - f(0)]y^{2\mu+1}dy\right| \le C\lambda^{\mu+1/2-\beta} \Big[g(\eta)\eta^{-\mu-\beta-3/2} + \lambda^{\mu+\beta+3/2}g(1/\lambda) + \varepsilon(\mu+\beta+3/2)\int_{1/\lambda}^{\eta} y^{\mu-\beta-1/2}dy\Big] \le C\varepsilon, \quad \lambda > 1/\eta$$

Finally, by using again the boundedness of the function $\sqrt{z}J_{\mu}(z)$, it has

$$\begin{split} \left| \int_{\eta}^{\infty} \phi_{\lambda}(y) [f(y) - f(0)] y^{2\mu + 1} dy \right| \\ \leq C \lambda^{\mu + 1/2 - \beta} \Big(\int_{\eta}^{\infty} |f(y)| y^{2\mu + 1} dy + \int_{\eta}^{\infty} y^{\mu - 1/2 - \beta} dy \Big) \to 0, \quad \text{as } \lambda \to \infty. \end{split}$$

Thus we conclude that (5) holds.

Proposition 2.2. (i) Let $f \in L_{1,\mu} \cap L_{\infty,\mu}$. If $-\mu - 1/2 < \alpha < -\mu + 3/2$ then

$$\lim_{\lambda \to \infty} \frac{1}{\lambda^2} \int_0^\lambda t^\alpha h_\mu(f)(t) t^{2\mu+1} dt = 0.$$

(ii) Let $f \in L_{1,\mu}$. If $\beta > \mu + 3/2$ and 0 is an h_{μ} -Lebesgue point of f then

$$\lim_{\lambda \to \infty} \frac{1}{\lambda^2} \int_0^\lambda \left(1 - \left(\frac{t}{\lambda}\right)^2 \right)^{\beta - 1} t^2 h_\mu(f)(t) t^{2\mu + 1} dt = 0.$$

Proof.

(i) We have to prove that $\lim_{\lambda\to\infty} I(\lambda)=0,$ where

$$I(\lambda) = \int_0^\infty f(x) K(x, \lambda) x^{2\mu+1} dx, \qquad \lambda > 0.$$

375

and

$$K(x,\lambda) = \frac{1}{\lambda^2} \int_0^\lambda t^\alpha(xt)^{-\mu} J_\mu(xt) t^{2\mu+1} dt, \qquad \lambda, x > 0.$$

According to [32, p. 129 (6)], by partial integration it obtains

$$K(x,\lambda) = \frac{x^{-2\mu}}{\lambda^2} \int_0^{\lambda} t^{\alpha+1}(xt)^{\mu} J_{\mu}(xt) dt$$

$$= \frac{x^{-2\mu-2}}{\lambda^2} \int_0^{\lambda} t^{\alpha} \frac{d}{dt} [(xt)^{\mu+1} J_{\mu+1}(xt)] dt$$

(6)

$$= \frac{x^{-2\mu-2}}{\lambda^2} \Big[t^{\alpha}(xt)^{\mu+1} J_{\mu+1}(xt) \Big]_{t=0}^{t=\lambda} - \alpha \int_0^{\lambda} t^{\alpha-1}(xt)^{\mu+1} J_{\mu+1}(xt) dt \Big]$$

$$= \frac{x^{-2\mu-2}}{\lambda^2} \Big[\lambda^{\alpha}(x\lambda)^{\mu+1} J_{\mu+1}(x\lambda) - \alpha \int_0^{\lambda} t^{\alpha-1}(xt)^{\mu+1} J_{\mu+1}(xt) dt \Big],$$

 $\lambda, x > 0.$

The last equality is justified because $z^{-\nu}J_{\nu}(z)$, $\nu \ge -1/2$, is bounded on $(0, \infty)$ and $\alpha > -2\mu - 2$, since $\mu > -1/2$.

Then, by taking into account again the boundedness of the function $z^{-\nu}J_{\nu}(z), \nu \geq -1/2$, we have that

(7)
$$|K(x,\lambda)| \le C\lambda^{\alpha+2\mu}, \qquad \lambda, x > 0.$$

Moreover, since the function $\sqrt{z}J_{\nu}(z)$ is bounded on $(0,\infty)$, it infers from (6) that

(8)
$$|K(x,\lambda)| \le C\lambda^{\alpha+\mu-3/2}x^{-\mu-3/2}, \qquad \lambda, x > 0,$$

because $\alpha > -\mu - 1/2$.

To estimate $I(\lambda)$ we divide the integral in three parts, namely

$$I(\lambda) = \left(\int_0^{1/\lambda} + \int_{1/\lambda}^1 + \int_1^\infty f(x)K(x,\lambda)x^{2\mu+1}dx\right)$$
$$= I_1(\lambda) + I_2(\lambda) + I_3(\lambda), \qquad \lambda > 1.$$

Since $f \in L_{\infty,\mu}$, from (7) it follows

$$|I_1(\lambda)| \le C ||f||_{\infty,\mu} \lambda^{\alpha-2}, \qquad \lambda > 1.$$

We use (8) to obtain

$$|I_{2}(\lambda)| \leq C\lambda^{\alpha+\mu-3/2} ||f||_{\infty,\mu} \int_{1/\lambda}^{1} x^{\mu-1/2} dx$$

= $C ||f||_{\infty,\mu} \lambda^{\alpha+\mu-3/2} \left(1 - \frac{1}{\lambda^{\mu+1/2}}\right), \quad \lambda > 1,$

and

$$|I_3(\lambda)| \le C\lambda^{\alpha+\mu-3/2} \int_1^\infty |f(x)| x^{2\mu+1} dx \le C ||f||_{1,\mu} \lambda^{\alpha+\mu-3/2}, \quad \lambda > 1.$$

Hence $I(\lambda) \to 0$, as $\lambda \to \infty$, provided that $-\mu - 1/2 < \alpha < -\mu + 3/2$.

(ii) Assume that 0 is an $h_{\mu}\text{-}\text{Lebesgue}$ point of f. Then, by Lemma 2.1, we have that

$$\lim_{\lambda \to \infty} \frac{1}{2^{\mu} \Gamma(\mu+1)} \int_0^\lambda \left(1 - \left(\frac{t}{\lambda}\right)^2 \right)^{\gamma} h_{\mu}(f)(t) t^{2\mu+1} dt = f(0),$$

provided that $\gamma > \mu + 1/2$. In particular, if $\beta > \mu + 3/2$ we can write

$$0 = \lim_{\lambda \to \infty} \int_0^\lambda \left[\left(1 - \left(\frac{t}{\lambda}\right)^2 \right)^\beta - \left(1 - \left(\frac{t}{\lambda}\right)^2 \right)^{\beta-1} \right] h_\mu(f)(t) t^{2\mu+1} dt$$
$$= \lim_{\lambda \to \infty} \frac{1}{\lambda^2} \int_0^\lambda \left(1 - \left(\frac{t}{\lambda}\right) \right)^{\beta-1} t^2 h_\mu(f)(t) t^{2\mu+1} dt.$$

Thus the proof is finished.

The next lemma presents sufficient conditions in order that our type Cesàro convergence implies ordinary convergence. To prove this result it can be proceed as in the proof of [2, Lemma 5] and hence we omit the proof.

Lemma 2.2. Suppose that $f \in L_{1,\mu}$ and that $h_{\mu}(f)(x)$ is nonincreasing when $x \ge x_0$, for some $x_0 > 0$. If

$$\lim_{\lambda \to \infty} \frac{1}{\lambda^2} \int_0^\lambda \left(1 - \left(\frac{t}{\lambda}\right)^2 \right)^\beta t^\alpha h_\mu(f)(t) t^{2\mu+1} dt = 0,$$

for some $\alpha > -2\mu - 2$ and $\beta > -1$, then

$$\lim_{t \to \infty} t^{\alpha + 2\mu} h_{\mu}(f)(t) = 0.$$

An immediate consequence of Propositions 2.1 (ii) and 2.2 (ii) and Lemma 2.2 is the following.

Corollary 2.2. Assume that $f \in L_{1,\mu}$ and that $h_{\mu}(f)(x)$ is nonincreasing when $x \ge x_0$, for some $x_0 > 0$.

(i) If $f \in L_{p,\mu}$, where $1 and <math>\mu \le \frac{p-1}{2}$ then

$$\lim_{t \to \infty} t^{1/p' + 2\mu} h_{\mu}(f)(t) = 0.$$

(ii) If 0 is an h_{μ} -Lebesgue point of f then

$$\lim_{t \to \infty} t^{2\mu+2} h_{\mu}(f)(t) = 0$$

Note that from Corollary 2.2 it deduces conditions on a function f that imply integrability properties for the Hankel transform $h_{\mu}f$ of f. The next results complete the ones established in [6, Theorems 3.1 and 3.2].

Corollary 2.3. Let $f \in L_{1,\mu}$. Suppose that there exists $x_0 > 0$ for which $h_{\mu}(f)(x)$ is nonincreasing when $x \ge x_0$.

(i) If $f \in L_{p,\mu}$, where $1 and <math>\mu \le \frac{p-1}{2}$ then $t^{\alpha}h_{\mu}(f) \in L_{1,\mu}$ provided that $-2\mu - 2 < \alpha < -1 - 1/p$.

(ii) If 0 is an h_{μ} -Lebesgue point of f then $t^{\alpha}h_{\mu}(f) \in L_{1,\mu}$, provided that $-2\mu - 2 < \alpha < 0$.

PROOF. It is sufficient to take into account that if $f \in L_{1,\mu}$ then $h_{\mu}(f)$ is a bounded function on $(0,\infty)$ and to use Corollary 2.2.

3. Uncertainty inequalities for Hankel transforms

In this section we obtain new uncertainty inequalities for Hankel transforms. Our results are different to the uncertainty principle for h_{μ} established by BOWIE [9, Theorem 2.2] and RSLER and VOIT [27, Theorem 1.1].

To prove our first uncertainty property we use, inspired in the procedure developed by [26], Laguerre expansions.

For every $n \in \mathbb{N}$, we denote by ϕ_n^{μ} the function

$$\phi_n^{\mu}(x) = \left(\frac{2n!}{\Gamma(n+\mu+1)}\right)^{1/2} e^{-x^2/2} L_n^{\mu}(x^2), \qquad x \in (0,\infty).$$

Here L_n^{μ} represents the Laguerre polynomial of degree n and order μ . The sequence $\{\phi_n^{\mu}\}_{n\in\mathbb{N}}$ forms an orthonormal basis in $L_{2,\mu}$.

We now collect some properties of ϕ_n^{μ} , $n \in \mathbb{N}$, that will be useful in the sequel.

Let $n \in \mathbb{N}$. ϕ_n^{μ} is an eigenfunction for the Hankel transformation h_{μ} associated to the eigenvalue $(-1)^n$, that is,

(9)
$$h_{\mu}(\phi_n^{\mu}) = (-1)^n \phi_n^{\mu}$$

([15, 8.9 (3)]).

A straightforward manipulation in [29, (5.1.14)] leads to

(10)
$$x^2 \phi_{n-1}^{\mu+1}(x) = -n^{1/2} \phi_n^{\mu}(x) + (\mu+n)^{1/2} \phi_{n-1}^{\mu}(x), \quad x \in (0,\infty).$$

Also, from [29, Theorem 5.1] it infers that

$$\sum_{n=0}^{\infty} \phi_n^{\mu}(x) \phi_n^{\mu}(y) w^{2n} = \frac{2}{1-w^2} \exp\left\{-\frac{1}{2}(x^2+y^2)\frac{1+w^2}{1-w^2}\right\} e^{-\frac{\pi i \mu}{2}} (xyw)^{-\mu}$$
(11) $\times J_{\mu}\left(\frac{2ixyw}{1-w^2}\right), \quad |w| < 1, \ x, y > 0.$

We now prove a Parseval type equality involving Hankel transfom and Laguerre expansions. By $\langle \cdot, \cdot \rangle_{\mu}$ we denote the usual inner product in the Hilbert space $L_{2,\mu}$.

Proposition 3.1. Let $f \in L_{2,\mu} \cap L_{2,\mu+2}$. Then

$$\int_0^\infty x^6 (|f(x)|^2 + |h_\mu(f)(x)|^2) x^{2\mu+1} dx = 2\sum_{n=0}^\infty |\langle x^2 f, \phi_n^\mu \rangle_\mu|^2 (\mu + 2n + 1).$$

PROOF. Parseval's equality for Laguerre expansions and (10) allow us to write

$$\begin{split} &\int_0^\infty (x^2 |f(x)|)^2 x^{2\mu+3} dx = \sum_{n=0}^\infty |\left\langle x^2 f, \phi_n^{\mu+1} \right\rangle_{\mu+1}|^2 \\ &= \sum_{n=0}^\infty |\left\langle f, x^2 \phi_n^{\mu+1} \right\rangle_{\mu+1}|^2 \\ &= \sum_{n=0}^\infty |\left\langle f, -(n+1)^{1/2} \phi_{n+1}^{\mu} + (\mu+n+1)^{1/2} \phi_n^{\mu} \right\rangle_{\mu+1}|^2. \end{split}$$

Also, Parseval's equality for Hankel transformation leads, by taking into account (9) and (10), to

$$\begin{split} \int_0^\infty (x^2 |h_{\mu}(f)(x)|)^2 x^{2\mu+3} dx &= \sum_{n=0}^\infty |\langle x^2 h_{\mu}(f), \phi_n^{\mu+1} \rangle_{\mu+1}|^2 \\ &= \sum_{n=0}^\infty |\langle h_{\mu}(f), x^2 \phi_n^{\mu+1} \rangle_{\mu+1}|^2 \\ &= \sum_{n=0}^\infty |\langle h_{\mu}(f), -(n+1)^{1/2} \phi_{n+1}^{\mu} + (\mu+n+1)^{1/2} \phi_n^{\mu} \rangle_{\mu+1}|^2 \\ &= \sum_{n=0}^\infty |\langle f, (n+1)^{1/2} \phi_{n+1}^{\mu} + (\mu+n+1)^{1/2} \phi_n^{\mu} \rangle_{\mu+1}|^2. \end{split}$$

Hence, it obtains that

$$\begin{split} &\int_{0}^{\infty} x^{6} (|f(x)|^{2} + |h_{\mu}(f)(x)|^{2}) x^{2\mu+1} dx \\ &= 2 \left(\sum_{n=0}^{\infty} |\langle x^{2}f, \phi_{n+1}^{\mu} \rangle_{\mu} |^{2} (n+1) + \sum_{n=0}^{\infty} (\mu+n+1) |\langle x^{2}f, \phi_{n}^{\mu} \rangle_{\mu} |^{2} \right) \\ &= 2 \sum_{n=0}^{\infty} |\langle x^{2}f, \phi_{n}^{\mu} \rangle_{\mu} |^{2} (\mu+2n+1). \end{split}$$

An immediate consequence of Proposition 3.1 is the following.

Corollary 3.1. For every $f \in L_{2,\mu} \cap L_{2,\mu+2}$, it has

(12)
$$\int_0^\infty x^6 (|f(x)|^2 + |h_\mu(f)(x)|^2) x^{2\mu+1} dx \ge 2(\mu+1) ||f||_{2,\mu+2}^2.$$

Moreover, equality holds if, and only if, $f(x) = c \frac{e^{-x^2/2}}{x^2}$, $x \in (0, \infty)$, for a certain $c \in \mathbb{C}$.

Note that if the equality in (12) holds then $\mu > 1$.

We now deduce from Corollary 3.1 our first uncertainty inequality involving Hankel transforms.

Proposition 3.2. If $f \in L_{2,\mu} \cap L_{2,\mu+2}$ then

(13)
$$\|x^{3}f\|_{2,\mu}^{5} \|x^{3}h_{\mu}(f)\|_{2,\mu} \geq \frac{5^{5/2}}{27}(\mu+1)^{3}\|f\|_{2,\mu+2}^{6}$$

Moreover, the equality holds if, and only if, $f(x) = c \frac{e^{-(\alpha x)^2}}{x^2}$, for certain $c \in \mathbb{C}$ and $\alpha \in \mathbb{R}$.

PROOF. Suppose that $||f||_{2,\mu+2} = 1$ and define, for every $\alpha > 0$, f_{α} by

$$f_{\alpha}(x) = \alpha^{-\mu-3} f\left(\frac{x}{\alpha}\right), \quad x \in (0,\infty).$$

It is not hard to see that $||f_{\alpha}||_{2,\mu+2} = 1$ and that $h_{\mu}(f_{\alpha})(x) =$ $\alpha^{\mu-1}h_{\mu}(f)(\alpha x), \, x, \alpha > 0.$

Corollary 3.1 implies that

$$\int_0^\infty x^6 (|f_\alpha(x)|^2 + |h_\mu(f_\alpha)(x)|^2) x^{2\mu+1} dx \ge 2(\mu+1).$$

We now define the function $F_f(\alpha)$ by

$$F_f(\alpha) = \int_0^\infty x^6 (|f_\alpha(x)|^2 + |h_\mu(f_\alpha)(x)|^2) x^{2\mu+1} dx, \quad \alpha > 0.$$

It is clear that

$$F_f(\alpha) = \alpha^2 \|x^3 f\|_{2,\mu}^2 + \frac{1}{\alpha^{10}} \|x^3 h_\mu(f)\|_{2,\mu}^2, \quad \alpha > 0.$$

The function F_f obtains the minimum in $\alpha_0 = \left(\frac{\sqrt{5}\|x^3h_{\mu}(f)\|_{2,\mu}}{\|x^3f\|_{2,\mu}}\right)^{1/6}$, being

$$F_f(\alpha_0) = \frac{6}{5^{5/6}} \|x^3 f\|_{2,\mu}^{5/3} \|x^3 h_{\mu}(f)\|_{2,\mu}^{1/3}.$$

Hence, we conclude

$$\|x^3 f\|_{2,\mu}^5 \|x^3 h_{\mu}(f)\|_{2,\mu} \ge \frac{5^{5/2}}{27} (\mu+1)^3.$$

To determinate the functions f for which the equality in (13) holds it is sufficient to use Corollary 3.1.

Jorge J. Betancor and Lourdes Rodríguez-Mesa

A celebrated result due to Hardy ([11, §3.2], for instance) established that if f is a measurable function on \mathbb{R}^n , $n \ge 1$, for which

$$|f(x)| \le Ce^{-\alpha|x|^2}, \quad |\mathcal{F}(f)(x)| \le Ce^{-\beta|x|^2}, \qquad x \in \mathbb{R}^n,$$

where α , β are positive real numbers such that $\alpha\beta > 1/4$ and $\mathcal{F}(f)$ denotes the Euclidean Fourier transform of f defined by

$$\mathcal{F}(f)(x) = \int_{\mathbb{R}^n} e^{-ixy} f(y) dy, \qquad x \in \mathbb{R}^n,$$

then f = 0. A version of this property in symmetric spaces of non compact type was established in [25, Theorem 3].

We now state a Hardy type result for Hankel transforms.

Proposition 3.3. Let $\alpha, \beta > 0$ and let f be a measurable function on $(0, \infty)$. If $\alpha\beta > 1/4$ and, for every x > 0,

$$|f(x)| \leq C e^{-\alpha x^2} \quad \text{and} \quad |h_{\mu}(f)(x)| \leq C e^{-\beta x^2},$$

then f = 0.

PROOF. By taking into account that $|z^{-\mu}J_{\mu}(z)| \leq Ce^{|\operatorname{Im} z|}, z \in \mathbb{C},$ ([24, Lemma 4]), it is sufficient to proceed as in the proof of the Hardy's result ([11, §3.2] or [25, Theorem 3]).

As a consequence of Hardy theorem for Hankel transforms (Proposition 3.3) we prove, in the spirit of [25], an uncertainty principle associated to Laguerre expansions.

Proposition 3.4. Let f be a measurable function on $(0, \infty)$ such that

$$|f(x)| \le Ce^{-\alpha x^2}, \qquad x \in (0,\infty),$$

and

(14)
$$|\langle f, \phi_n^{\mu} \rangle_{\mu}| \le C e^{-\beta n}, \qquad n \in \mathbb{N},$$

for some $\alpha, \beta > 0$. If $\alpha \operatorname{tgh} \frac{\beta}{4} > \frac{1}{4}$ then f = 0.

PROOF. It is clear that $f \in L_{1,\mu} \cap L_{2,\mu}$. Then we have that

(15)
$$f = \sum_{n=0}^{\infty} \langle f, \phi_n^{\mu} \rangle_{\mu} \phi_n^{\mu},$$

in the sense of convergence in $L_{2,\mu}$. Moreover, according to (9) and [19, Theorem 3], it has

(16)
$$h_{\mu}(f) = \sum_{n=0}^{\infty} \langle f, \phi_{n}^{\mu} \rangle_{\mu} (-1)^{n} \phi_{n}^{\mu},$$

where the convergence of the series is also understood in $L_{2,\mu}$. On the other hand, (14) and [10, Corollary 2.2] imply that the series in (15) and (16) converge absolute and uniformly in $x \in [0, \infty)$. Hence, it follows that

$$h_{\mu}(f)(x) = \sum_{n=0}^{\infty} \langle f, \phi_n^{\mu} \rangle_{\mu} (-1)^n \phi_n^{\mu}(x), \qquad x \in (0, \infty).$$

Then, Cauchy–Schwartz's inequality leads to

(17)
$$|h_{\mu}(f)(x)| \leq \left(\sum_{n=0}^{\infty} |\langle f, \phi_{n}^{\mu} \rangle_{\mu}|\right)^{1/2} \left(\sum_{n=0}^{\infty} |\langle f, \phi_{n}^{\mu} \rangle_{\mu} |\phi_{n}^{\mu}(x)^{2}\right)^{1/2} \\ \leq C \left(\sum_{n=0}^{\infty} e^{-\beta n}\right)^{1/2} \left(\sum_{n=0}^{\infty} e^{-\beta n} \phi_{n}^{\mu}(x)^{2}\right)^{1/2}, \\ x \in (0, \infty).$$

By letting x = y and $w = e^{-\beta/2}$ in (11) it obtains

$$\begin{split} \sum_{n=0}^{\infty} e^{-\beta n} \phi_n^{\mu}(x)^2 \\ &= \frac{2}{1 - e^{-\beta}} \exp\left\{-x^2 \frac{1 + e^{-\beta}}{1 - e^{-\beta}}\right\} (x^2 e^{-\beta/2})^{-\mu} e^{-\pi i \mu/2} J_{\mu} \left(\frac{2x^2 i e^{-\beta/2}}{1 - e^{-\beta}}\right) \\ &= \frac{2^{\mu+1}}{(1 - e^{-\beta})^{\mu+1}} \exp\left\{-x^2 \frac{1 + e^{-\beta}}{1 - e^{-\beta}}\right\} \left(\frac{2x^2 e^{-\beta/2}}{1 - e^{-\beta}}\right)^{-\mu} I_{\mu} \left(\frac{2x^2 e^{-\beta/2}}{1 - e^{-\beta}}\right), \\ &\quad x \in (0, \infty), \end{split}$$

where I_{μ} denotes the modified Bessel function of the first kind and order μ ([31, p. 77]). According to [31, §3.71 (9)] we have

(18)
$$\sum_{n=0}^{\infty} e^{-\beta n} \phi_n^{\mu}(x)^2 \le C \exp\left\{-x^2 \frac{e^{\beta/2} + e^{-\beta/2} - 2}{e^{\beta/2} - e^{-\beta/2}}\right\}$$
$$\le C \exp\left\{-x^2 \operatorname{tgh}\frac{\beta}{4}\right\}, \quad x \in (0,\infty).$$

Hence, from (17) and (18) it deduces that

$$|h_{\mu}(f)(x)| \le C \exp\left\{-x^2 \operatorname{tgh} \frac{\beta}{4}\right\}, \qquad x \in (0,\infty).$$

Proposition 3.3 allows now to conclude that f = 0 provided that $\alpha \operatorname{tgh} \frac{\beta}{4} > \frac{1}{4}$.

We now obtain weighted uncertainty principle for Hankel transforms. To establish these properties we use weighted Hausdorff–Young inequalities for Hankel transformation. We say that a pair (u, v) of nonnegative measurable functions on $(0, \infty)$ is in $HY_{\mu}(p, q)$, $1 \leq p, q < \infty$, when there exists a constant A > 0 such that

(19)
$$\left\{ \int_0^\infty u(x) |h_\mu(f)(x)|^q x^{2\mu+1} dx \right\}^{1/q} \\ \leq A \left\{ \int_0^\infty v(x) |f(x)|^p x^{2\mu+1} dx \right\}^{1/p},$$

for every continuous and compactly supported functions on $(0, \infty)$. We collect some pairs (u, v) of functions in $HY_{\mu}(p, q)$ for some $1 \leq p, q < \infty$. [19, Theorem 3] implies that $(\mathbf{1}, \mathbf{1}) \in HY_{\mu}(p, p')$, for every 1 , where**1** $represents the function <math>\mathbf{1}(x) = 1$, $x \in (0, \infty)$. From [20, Lemma 1] it deduces that $(x^{(\mu+3/2-\lambda)q-2\mu-2}, x^{(\lambda+\mu+1/2)p-2\mu-2}) \in HY_{\mu}(p,q)$, provided that $1 and <math>\max\{1/p, 1/q'\} \leq \lambda < \mu + 3/2$. According to [14], we say that $(u, v) \in F_{p,q}^*$ if

(20)
$$\sup_{s>0} \left\{ \int_0^{1/s} u^*(t)^q dt \right\}^{1/q} \left\{ \int_0^s \left(\frac{1}{v}\right)^*(t)^{p'} dt \right\}^{1/p'} < \infty,$$

holds, for $1 , and, in the case <math>1 < q < p < \infty$ the conditions

$$\int_{0}^{\infty} \left[\left(\int_{0}^{1/x} u^{*}(t)^{q} dt \right)^{1/q} \left(\int_{0}^{x} \left(\frac{1}{v} \right)^{*} (t)^{p'} dt \right)^{1/q'} \right]^{r} \left[\left(\frac{1}{v} \right)^{*} (x) \right]^{p'} dx < \infty$$

and

$$\int_{0}^{\infty} \left[\left(\int_{1/x}^{\infty} [t^{-1/2} u^{*}(t)]^{q} dt \right)^{1/q} \left(\int_{x}^{\infty} \left[t^{-1/2} \left(\frac{1}{v} \right)^{*}(t) \right]^{p'} dt \right)^{1/q'} \right]^{r} \\ \times \left[x^{-1/2} \left(\frac{1}{v} \right)^{*}(x) \right]^{p'} dx < \infty,$$

hold, where $\frac{1}{r} = \frac{1}{q} - \frac{1}{p}$. Here, if g is a measurable function on $(0, \infty)$, by g^* we understand, as usual, the equimeasurable decreasing rearrangements of g. By invoking [14, Theorem 3] or [13, Theorem 11] if $((ux^{2\mu+1})^{1/q}, (vy^{(2\mu+1)(1-p)})^{1/p}) \in F_{p,q}^*$, with $1 < p, q < \infty$, then $(u, v) \in HY_{\mu}(p, q)$. In [20, Theorem 1] other conditions on u and v analogous to (20) that do not involve equimeasurable rearrangements and which imply that $(u, v) \in HY_{\mu}(p, q)$ are presented.

Next we establish a weighted uncertainty inequality that can be seen as a modest extension of [9, Theorem 2.2]. By S_e we represent the subspace of S constituted by all those even functions belonging to the Schwartz space S. The Hankel transformation is investigated on S_e by ALTEN-BURG [1] (see [12] also).

Proposition 3.5. Let $f \in S_e$. If $1 \leq p, q < \infty$ and $(u^{1-q}, v) \in HY_{\mu+1}(p,q)$ then

$$\begin{split} \left\{ \int_0^\infty u(x) |x^2 f(x)|^{q'} x^{2\mu+1} dx \right\}^{1/q'} \left\{ \int_0^\infty v(x) |x^2 h_\mu(f)(x)|^p x^{2\mu+1} dx \right\}^{1/p} \\ &\geq \frac{\mu+1}{A} \|f\|_{2,\mu}^2, \end{split}$$

being A the constant appearing in (19), when we replace u and μ by u^{1-q} and $\mu + 1$, respectively $((u^{1-q}, v) \in HY_{\mu+1}(p, q))$.

PROOF. Let $f \in S_e$. Then as it is showed in the proof of [9, Theorem 2.2] we have that

$$\int_0^\infty x f(x) \frac{d}{dx} (f(x)) x^{2\mu+1} dx = (\mu+1) \int_0^\infty |f(x)|^2 x^{2\mu+1} dx.$$

Hence, Hölder's inequality and [1, §4.1 (3)] lead to

$$\begin{aligned} (\mu+1)\|f\|_{2,\mu}^{2} &\leq \left\{\int_{0}^{\infty} u(x)|x^{2}f(x)|^{q'}x^{2\mu+1}dx\right\}^{1/q'} \\ &\times \left\{\int_{0}^{\infty} \left|\frac{1}{u(x)^{1/q'}} \left(\frac{1}{x}\frac{d}{dx}\right)f(x)\right|^{q}x^{2\mu+1}dx\right\}^{1/q} \\ &= \left\{\int_{0}^{\infty} u(x)|x^{2}f(x)|^{q'}x^{2\mu+1}dx\right\}^{1/q'} \\ &\times \left\{\int_{0}^{\infty} \left|\frac{1}{u(x)^{1/q'}}h_{\mu+1}(y^{2}h_{\mu}(f)(y))(x)\right|^{q}x^{2\mu+1}dx\right\}^{1/q} \\ &\leq A\left\{\int_{0}^{\infty} u(x)|x^{2}f(x)|^{q'}x^{2\mu+1}dx\right\}^{1/q'} \left\{\int_{0}^{\infty} v(x)|x^{2}h_{\mu}(f)(x)|^{p}x^{2\mu+1}dx\right\}^{1/p}, \end{aligned}$$

and the proof is completed.

If $g \in L_2(\mathbb{R})$ and $\int_{-\infty}^{\infty} |g(x)|^2 dx = 1$, the entropy E[g] of g is defined by

$$E[g] = \int_{-\infty}^{\infty} g(x) \log[g(x)] dx$$

HIRSCHMAN [21] established that

(21)
$$E[|g|^2] + E[|\mathcal{F}(g)|^2] \le E_H$$

where $E_H = 0$ and \mathcal{F} represents the Fourier transform on \mathbb{R} . Moreover, he conjectured that $E_H = -1 + \log 2$. This can be proved by invoking a sharp form for the Hausdorff–Young inequality for the Fourier transform ([3]).

HERZ [19, Theorem 3] established a Hausdorff–Young inequality for Hankel transformation. That is, for every $1 and <math>f \in L_{p,\mu}$ it has

(22)
$$\int_{0}^{\infty} |h_{\mu}(f)(x)|^{p/(p-1)} x^{2\mu+1} dx$$
$$\leq \left(2^{\mu} \Gamma(\mu+1)\right)^{\frac{p-2}{p-1}} \left\{ \int_{0}^{\infty} |f(x)|^{p} x^{2\mu+1} dx \right\}^{1/(p-1)}$$

Later, FITOUHI [16] established a Hankel version of the Babenko inequality ([3, Theorem 1]). In [16, Theorem 4.1] it was proved that, for every $1 and <math>f \in L_{p,\mu}$,

(23)
$$\int_{0}^{\infty} |h_{\mu}(f)(x)|^{p/(p-1)} x^{2\mu+1} dx$$
$$\leq \left[p^{(2-p)/(p-1)} (p-1) \right]^{\mu+1} \left[2^{\mu} \Gamma(\mu+1) \right]^{\frac{p-2}{p-1}} \left\{ \int_{0}^{\infty} |f(x)|^{p} x^{2\mu+1} dx \right\}^{1/(p-1)}.$$

Equality in (23) holds when
$$f(x) = e^{-x^2}$$
, $x \in (0, \infty)$. Thus (23) is a

Equality in (23) holds when $f(x) = e^{-x^2}$, $x \in (0, \infty)$. Thus (23) is a sharp Hausdorff–Young inequality for Hankel transforms.

By using (23) we now obtain an entropy inequality for Hankel transforms that can be seen as a Hankel version of the Hirschman's inequality (21).

Proposition 3.6. Let $f \in L_{1,\mu} \cap L_{2,\mu}$. If $||f||_{2,\mu} = 1$ then

$$\int_0^\infty |h_\mu(f)(x)|^2 \log |h_\mu(f)(x)| x^{2\mu+1} dx + \int_0^\infty |f(x)|^2 \log |f(x)| x^{2\mu+1} dx \le -(\mu+1) - \log \left[\frac{\Gamma(\mu+1)}{2}\right].$$

PROOF. To prove this inequality we can proceed in a standard way ([4]). It is sufficient to differentiate both sides in (23) and then to consider p = 2.

References

^[1] G. ALTENBURG, Bessel-transformationen in Räumen von Grundfunktionen über dem Intervall $\Omega = (0, \infty)$ und deren dualräumen, *Math. Nachr.* **108** (1982), 197–218.

- [2] M. BAGOTA, D.V. GIANG and F. MÓRICZ, On the order of magnitude of Fourier transforms, Acta Math. Hungar. 75 (3) (1997), 227–243.
- [3] W. BECKNER, Inequalities in Fourier analysis, Ann. Math. 102 (2) (1) (1975), 159–182.
- W. BECKNER, Pitt's inequality and the uncertainty principle, Proc. Amer. Math. Soc. 123 (6) (1995), 1897–1905.
- [5] J. J. BETANCOR and L. RODRÍGUEZ-MESA, L¹-convergence and strong summability of Hankel transforms, *Publicationes Math. Debrecen* 55 (1999), 437–451.
- [6] J. J. BETANCOR and L. RODRÍGUEZ-MESA, Lipschitz-Hankel spaces and partial Hankel integrals, Integral Transforms and Special Functions 7 (1-2) (1998), 1–12.
- [7] J. J. BETANCOR and L. RODRÍGUEZ-MESA, On the Besov-Hankel spaces, J. Math. Soc. Japan 50 (3) (1998), 781–788.
- [8] W. BLOOM and Z. XU, The Hardy-Littlewood maximal function for Chébli-Trimèche hypergroups, *Contemp. Math.* 183 (1995), 330–375.
- [9] P. C. BOWIE, Uncertainty inequalities for Hankel transforms, SIAM J. Math. Anal. 2 (4) (1971), 601–606.
- [10] A. J. DURÁN, Laguerre expansions of tempered distributions and generalized functions, J. Math. Anal. Appl. 150 (1) (1990), 166–180.
- [11] H. DYM and H. P. MCKEAN, Fourier series and integrals, *Academic Press, New York*, 1972.
- [12] S. J. L. VAN EIJNDHOVEN and J. DE GRAAF, Some results on Hankel invariant distribution spaces, Proc. Kon. Ned. Akad. van Wetensch. A 86 (1) (1983), 77–87.
- [13] S. A. A. EMARA, Weighted estimates for the Hankel, K and Y transformations, Archivum Mathematicum (Brno) 30 (1) (1994), 29–43.
- [14] S. A. A. EMARA and H. P. HEINIG, Weighted norm inequalities for the Hankel and K-transformations, Proc. Roy. Soc. Edinburgh 103A (1986), 325–333.
- [15] A. ERDÉLYI, Tables of integral transforms, II, McGraw-Hill, New York, 1953.
- [16] A. FITOUHI, Inégalité de Babenko et inégalité logarithmique de Sobolev pour l'opérateur de Bessel, C.R. Acad. Sci. Paris 305 Ser. I (1987), 877–880.
- [17] D. T. HAIMO, Integral equations associated with Hankel convolutions, Trans. Amer. Math. Soc. 116 (1965), 330–375.
- [18] H. P. HEINIG and M. SMITH, Extension of the Heisenberg–Weyl inequality, Internat. J. Math. and Math. Sci. 9 (1) (1986), 185–192.
- [19] C. S. HERZ, On the mean inversion of Fourier and Hankel transforms, Proc. Nat. Acad. Sci. USA 40 (1954), 996–999.
- [20] P. HEYWOOD and P. G. ROONEY, A weighted norm inequality for the Hankel transformation, Proc. Roy. Soc. Edinburgh 99A (1984), 45–50.
- [21] I. I. HIRSCHMAN, JR., A note on entropy, Amer. J. Math. 79 (1957), 152–156.
- [22] I. I. HIRSCHMAN, JR., Variation diminishing Hankel transforms, J. Analyse Math. 8 (1960/61), 307–336.
- [23] Y. KANJIN, Convergence and divergence almost everywhere of spherical means for radial functions, Proc. Amer. Math. Soc. 103 (4) (1988), 1063–1069.
- [24] E. L. KOH and A. H. ZEMANIAN, The complex Hankel and *I*-transformations of generalized functions, SIAM J. Appl. Math. 16 (5) (1968), 945–957.
- [25] V. PATI, A. SITARAM, M. SUNDARI and S. THANGAVELU, An uncertainty principle for eigenfunctions, J. Fourier Anal. Appl., 2 (5) (1996), 427–433.

- [26] M. RÖSLER, An uncertainty principle for the Dunkl transform, Bull. Austr. Math. Soc. 59 (3) (1999), 353–360.
- [27] M. RÖSLER and M. VOIT, An uncertainty principle for Hankel transforms, Proc. Amer. Math. Soc. 127 (1) (1999), 183–194.
- [28] K. STEMPAK, La théorie de Littlewood-Paley pour la transformation de Fourier-Bessel, C.R. Acad. Sci. Paris 303 (serie I, n°1) (1986), 15–19.
- [29] G. SZEGÖ, Orthogonal polynomials, Amer. Math. Soc., Colloq. Publ. 23 (1939).
- [30] E. C. TITCHMARSH, An introduction to the theory of Fourier integrals, Oxford University Press, Oxford, 1948.
- [31] G. N. WATSON, A treatise on the theory of Bessel functions, Cambridge University Press, Cambridge, 1959.
- [32] A. H. ZEMANIAN, Generalized integral transformations, Dover Publications, New York, 1987.

JORGE J. BETANCOR DEPARTAMENTO DE ANÁLISIS MATEMÁTICO UNIVERSIDAD DE LA LAGUNA 38271 - LA LAGUNA, TENERIFE ISLAS CANARIAS ESPAÑA

E-mail: jbetanco@ull.es

LOURDES RODRÍGUEZ-MESA DEPARTAMENTO DE ANÁLISIS MATEMÁTICO UNIVERSIDAD DE LA LAGUNA 38271 - LA LAGUNA, TENERIFE ISLAS CANARIAS ESPAÑA

E-mail: lrguez@ull.es

(Received July 14, 1999; file revised January 13, 2000)